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Zooms=2 * B Z~N(0,1) » P(Z>2)=0.0228
Z0025=1.96 » B[] Z~N(0,1) » P(Z>1. 96)=0.025
toos(15)=1.753 » B} T~t(15) » P(T>1.753)=0.05
fo0s(1,8)=5.32 + B F~F(1,8) » P(F>5.32)=0.05
f)05(3,15)=3.29 » BIF~F(3,15) > P(F>3.29)=0.05
fo05(2,15)=3.68 > B F~F(2,15) - P(F>3.68)=0.05
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(A) 21 = ~Zy (B) Itl—tz (V) = _to: (V) (C) le—a (V) = —Zj (V) (D) Z, < ta ("") °
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11. Suppose that n = 100 and that we want to test whether the population mean is
equal to 25 versus the alternative that it is not equal to 25. The sample mean is
found to be 23 and the sample standard deviation is 10. What is the p-value for
this test?

(A)0.0228 (B)0.0456 (C)0.5532 (D) 1.00 -

12. Conduct a test to determine whether or not the population proportion of voters in
favor of proposal A is greater than 50%. In a random sample of 300 voters, 210

said that they were in favor of this proposal. What is the test statistic?
(A)zog=5.16 (B)zp=6.92 (C)zp=756 (D)z;=19.80
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13. To test whether or not two population variances are equal, the appropriate
distribution is:
(A) Z distribution
(B) T distribution with n, + n - 2 degrees of freedom
(C) F distribution
(D) Chi-square distribution °

14. In an ANOVA, we find that the p-value is 0.004. We therefore conclude that:
(A) No two variances are equal
(B) No two population means are equal
(C) There is no statistical evidence that any population mean is different from any -
other
(D)There is strong statistical evidence that not all the population means are
equal o

15. In a regression analy51s what is the difference between R and the adjusted R*?
(A) The adjusted R? is always smaller than R?
(B) The adjusted R? is smaller in this case because the constant term is negative
(C) The adjusted R* adjusts explanatory power by the degrees of freedom
(D) The adjusted R? always increases as more independent variables are added to
the model »

16. The ¢coefficient of determination, R?, has which one of the following properties?
(A) Ranges from zero to one
(B) Applies to any relationship between x and y
(C) Is a ratio of unexplained variation to explained variation
(D) Has the same sign as the slope of the regression line = -

17. Suppose that in a multiple regression the F is significant, but none of the t-ratjos
are significant. This means that:
(A) Multicollinearity may be present
(B) Autocorrelation may be present
(C) A nonlinear model would be a better fit
(D) The regression is good °
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18. In testing Hy: By = B2= B3 .. = B= 0, a p-value of 0.0004, would give an
indication that:
(A) The null hypothesis should not be rejected
(B) The null hypothesis should be rejected
(C) All three independent variables have a slope of zero
(D) There is no linear relationship between y and any of the three independent
variables °

19. In a test for equality of proportions, with a table having three rows and six

columns, the degrees of freedom are:
(A3 B)6 (C)10 (D) 18-

20. A sample of consumers of coffee is selected and asked whether they had coffee
with sugar or without. How many runs are in this data?
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J= j=t
A |8 8 79 87 71 82 81 |566 45922
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